Bryan Broadcasting Corporation PO Box 3248 Bryan, TX 77805-3248

Client:

Liberty for the Kids Salem Media

Order #: Description: 7929-00002

KVMK Order 41045001 Jan/Feb 2023

Date Entered: 1/25/2023

P.O.#:

Salesperson:

Hendry, Dale

Invoice Frequency: Billed at end of Media/EOS, Sorted by Date Notary Req'd

Salem Radio Network Attn: Radio Accounting 6400 N. Beltline Suite 210 Irving, TX 75063

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	<u>Otv</u>	Rate	<u>Total</u>	M	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	Sa	<u>Su</u>
1	1/23/2023	1/28/2023	KVMK-FM	06:00:00a to 10:00:00a	Weekly	1:00	2	43.53	87,06	0	0	0	0	2	0	0
2	1/23/2023	1/28/2023	KVMK-FM	10:00:00a to 03:00:00p	Weekly	1:00	2	43.53	87,06	0	0	0	0	2	0	0
3	1/23/2023	1/28/2023	KVMK-FM	03:00:00p to 07:00:00p	Weekly	1:00 、	2	47.06	94.12	0	0	0	0	2	0	0
4	1/23/2023	1/28/2023	KVMK-FM	06:00:00a to 07:00:00p	Weekly	1:00	2	47.06	94.12	0	0	0	0	0	2	0
5	1/30/2023	2/5/2023	KVMK-FM	06:00:00a to 09:00:00a	Weekly	1:00	2	43.53	87.06	0	1	0	1	0	0	0
6	1/30/2023	2/5/2023	KVMK-FM	10:00:00a to 03:00:00p	Weekly	1:00	2	43.53	87.06	0	1	0	1	0	0	0
7	1/30/2023	2/5/2023	KVMK-FM	03:00:00p to 07:00:00p	Weekly	1:00	2	47.06	94.12	0	1	0	1	0	0	0
8	1/30/2023	2/5/2023	KVMK-FM	06:00:00a to 07:00:00p	Weekly	1:00	2	47.06	94.12	0	0	0	0	0	2	0

Order Start Date: 1/23/2023

Order End Date: 2/5/2023

Spots: 16

Total Charges:

\$724.72

Combined Discounts:

\$108.70

Total Net:

\$616.02

This station does not discriminate in the sale of advertising time, and will accept no advertising which is placed with an intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for any discriminatory purpose, including decisions not to place advertising on particular stations on the basis of race, gender, national origin or ancestry.

Invoices are due on the 10th of the month. We accept VIŞA MasterCard AMEX and Discover.

Projected Medi	a Month/End-Of-So	hedule Billing Totals for L	iberty for the Kids	Salem Media / 7929-	00002 :
		Spot Count	Gross Billing	Combined Disc.	<u>Net Billing</u>
January	2023	8	\$362.36	\$54.35	\$308.01
February	2023	8	\$362.36	\$54.35	\$308.01
Total:		16	\$724.72	\$108.70	\$616.02

Confirmed & Accepted for Bryan Broadcasting Corporation By:

Accepted for Salem Radio Network By:

ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

I, Rural AM FM	, hereby request station time a	as follows: See Order for proposed
schedule and charges. See	Invoice for actual schedule and char	rges.
Check one:		
(1) a legally qualified can issue of public importance	ssage relating to any political matter of nati- didate for federal office; (2) an election to fe e (e.g., health care legislation, IRS tax code, e discussion at the national level.	etc.); or (4) a political issue that is the
Ad does NOT communion only to a state or local is	cate a message relating to any political matt sue).	ter of national importance (e.g., relates
ALL	QUESTIONS/BLOCKS MUST BE (COMPLETED
itation time requested by: Liberty	for the kids	and the second successive and the second
Agency name: Rural AMFM		
Address: 190 Monroe Ave, NW Suite	300, Grand Rapids, MI 49503	Email: halley@ruralamfm.com
Contact: Halley Morris	Phone number: 5172407939	
lame of advertiser/sponsor (list committees] with no acronyms; n	entity's full legal name as disclosed to the ame must match the sponsorship ID in ad	e Federal Election Commission [for federal d):
Vame: Liberty for the kids		
Address: 208 W 14TH ST,AUSTIN,	TX 78701-1615	Email: infowl, herby forthe 10
Contact: Allan E. Parker Jr	Phone number:	Email: **// CET // CET
Station is authorized to announc	e the time as paid for by such person or e	entity.
group(s) of the advertiser/sponse	ficers or members of the executive comm or (Use separate page if necessary.):	nittee or board of directors or other governing
see attached		
		of the
By signing below, advertiser/spor executive committee and board o	sor represents that those listed above are t of directors or other governing group(s).	the only executive officers, members of the
If ad refers to a federal candidat	e(s) or federal election, list ALL of the foll	llowing: N/A
Name(s) of every candidate refe	orred to:	and the second
Office(s) sought by such candid	ate(s) (no acronyms or abbreviations):	and the second s
Date of election:		
Clearly identify EVERY political ad (no acronyms); use separate	matter of national importance referred to page if necessary:	to in the N/A

orney's tees, which may aris	to indemnify and hold harmles e from the broadcast of the ab- lso agrees to prepare a script, t	ss the station for ove-requested a transcript or tape	any damages or liability, including reasonable dvertisement(s). For the above-requested e, which will be delivered to the station by the				
g deadlines outlined in the s dvertiser/Sponsor	tation's disclosure statement.	Station Rep					
	A	Signature: Name: Date of Station Agreement to Sell Time:					
gnature: Hailey Simmons-Morris	Merria.						
ate of Request to Purchase							
ate of Request to Falcinas	TO BE COMPLETE	ED BY STATIO	ON ONLY				
			eived:				
d submitted to station?	Yes No						
Note: Must have separate PB-19	forms (or the equivalent, e.g., add	lendums) for each	version of the ad (i.e., for every ad with differing copy). ove, station should ask the advertiser/sponsor or directors, maintain records of inquiry and				
Rejected – provide	form, then promptly upload up		when complete.				
Contract #:	Station Call Let	ters:	Date Received/Requested:				
Est. #:	Station Locatio	n:	Run Start and End Dates:				
Facastianal issue ads of	nly (not required for state/lo	ocal issue ads):					
Upload order, this disclose to the OPIF or use this specific to the order of time or	sure form and invoice (or traft pace to document schedule o purchased (including date, tim	fic system print of time purchase ne, class of time	out) or other material reflecting this transactioned, when spots actually aired, the rates charged and reasons for any make-goods or rebates) on a until an invoice is generated, the name of a libe placed in the "Terms and Disclosures" folco				

Liberty for the kids Board of Directors

- ALLAN PARKER, director
- Allan E. Parker Jr, agent
- DON MCDAMS, vice president
- DON MCDAMS, director
- JIM WINDHAM, director
- JOHN SHIELDS, secretary/treasurer
- JOHN SHIELDS, director
- KENT GRUSENDORF, president
- KENT GRUSENDORF, director
- ROD PAIGE, director